Z:\Clients\Therma Tru PERMANENT\A - Florida Product Approvals\FL-37182 Comp Jamb\TX-5203-5205.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

OPAQUE FIBERGLASS SINGLE DOOR

in a COMPOSITE FRAME

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code {IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

A

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal o or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject fo further engineering analysis.
Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part
numbers. These door panels must be stained or painted within six months of
installation.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Elevations

Horizontal & Vertical Cross Sections (2X Buck)
Vertical Cross Sections {Thresholds)

Buck & Frame Anchoring

Hardware Details

Bill of Materials & Components

OO IOV W INY e

050 E\ o
SxTind £3 0
Sowigi NI T
rf?.&?}" ‘: T H N - % li' 9
+ *® - o |, s 9 “
Ly 1t ok UM o
) tht b R z !
& Haed u Sah oW
k.)u.: 4 . f‘ L™ o %k
‘:‘O.: :; L, S§ g 0 3: <
a0 i W zeg 656
KA > dge bk
A g B> UE
by i Zgd §b
Minniande & Oz £
- o oxz K
$ Za, Oy
o 3 , £ QO
s 298 v
37.75" MAX O.A. a. Lé g g
FRAME WIDTH {g § E
E K B8
8
(9]
=
22
wn
x| oz
o 20 -
g ¢ Tn |4 28
£ <3 S REEN
0= »O IE |5 Yo
XE <= X o |9 2R
<0 =x R S
=@ 590 5 ¥ gh
NT «H 2 =0
T wy gl g =
- 3 =
(X s’
- >
m
172]
s
o
n
o
o
Lt
<C
()
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) =
CONFIGURATION INSWING OUTSWING S
POSITIVE NEGATIVE POSITIVE NEGATIVE DATE: 5,/20/21
scae:  N.T.S.
X +50.0 -55.0 +50.0 -50.0 owe. B:  RW
ek BYy: LFS
DRAWING NO.:
TX—5203

sHEer | oF 8

© 2021 R.W. BUILDING CONSULTANTS INC.



ZAClients\Therma Tru PERMANENT\A - Florida Product Approvals\FL-37182 Comp Jamb\TX-5203-5205.dwg

S 242,
Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

—1.2" ~ f INTERIOR ] 2.38" NOTE: BOOK, HYBRID & U1 DOORS .&"“‘?ﬁ'}‘“
" _ = © / - MAY EACH BE FABRICATED AS WOOD ool
L[ § T\ o OR COMPOSITE EDGE DOORS. ARt
: e L e PN N SN F~2 S
- F o 7 ¥ X K gu*‘: %Eﬁ 10
l EXTERIOR f’%& R
HINGE STILE LOCK BLOCK LATCH STILE TOP RAIL TOP RAIL %331# iR
(ENGINEERED WOOD) /1" HORIZONTAL CROSS SECTION 12.5" LONG (WOOD) (ENG. WOOD) (COMPOSITE) (COMP./ENG. WOOD) Mndae™
\_2_/ WOOD EDGE DOOR PANEL \
04" — | ) 1.88" —={}=-1.2" = 1
—1.2' = i INTERIOR o —— o |
fos? N
i‘\. 55 P A RN Tk =+ [ §§ i = L >
n T o FOAM CO{ FOAMCORE ||~ f
‘ / d 57 Ll : COMPOSITE S T~
COMPOSITE  yNGE STILE EXTERIOR LOCK BLOCK LATCH STILE B w
CAP (ENG. WOOD) /"2 "\ HORIZONTAL CROSS SECTION 12.5"LONG (WOOD)  (ENG. WOOD) W an\u
\2/ COMPOSITE EDGE DOOR PANEL \ —\—
36" MAX. DOOR ___3581"MAX. DOOR 35.81" MAX. DOOR S L
PANEL WIDTH PANEL WIDTH PANEL WIDTH A PR
&> & D N N ¢
- L | (2 . EXTERIOR — INTERIOR EXTERIOR . INTERIOR
= = = L
T - i = X = L
< < < S
o e 1o e RN © il FIBERGLASS sxm/( s .
& X & X 8 X FBERGLASSSKN ||
g ® T 2 @ T 8 ® T
> > > I /7
< /N N / BN
SN & S i I
el Q
O O
BOTIOMRAL-" |[[] [ BOTIOM RAIL—"|[
(COMP.) - = b (COMP.) -
4 4 4 e ] 7" == -~ 17" ——]
40 ) FIBERGLASS DOOR PANEL 41 ) FIBERGLASS DOOR PANEL 42 FIBERGLASS DOOR PANEL
BOOK DOOR HYBRID DOOR U1 DOOR /3 \ VERTICAL CROSS SECTION ~ /_4 "\ VERTICAL CROSS SECTION

FIBERGLASS SKIN: 0.073" MIN. THK.
FOAM CORE: POLYURETHANE -1.9 PCF MIN.

\_2_/ WOOD EDGE DOOR PANEL

\2_/ COMPOSITE EDGE DOOR PANEL

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Ry

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU

FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ{ DATE

DATE: 5/20/21

scale:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5203

sHEET 2 oF 8

© 2021 R.W. BuiLDING CONSULTANTS ING.



TONE BLNVLTIASNDD 9NIaing "Mm'sd L2202 @

ZS8LL~4 # NOLLVMISIONM 40 ILVOLLINID ‘ SNOISIAZY
SYIINIONI TYNOISSII0¥d 4O QuvVOE SVX3L SNOLYAFT Ad 31vd [ON|—~ =0 8_
N2 S
LELE'6C9'CLE FON euold : (| x <
GEGES 14 OSUIDA 0£Z Xog .o.ngg SATANISSY HO Lvd W m = . R.Zu &
*ONI ‘SINVLINSNOD ONIaUNg N g | 3_
HO0Q SSY19M34l4 Ol 1Bl Ele X
SZLYOL# "3'd SvXaL NA1—VAYIHL g m gl x|E &
“I'd IPILYDS "4 Uopukl :Ag pespdeld sjuswnooq 10NA0Hd 281813 m &
= . 7
m_.._.Q“EIQw 4 NOONAT &
¢ ” ................ “'Oli\t.
255 v ixg
G, En, P ¥
NP, NS
NN er a:::ﬂwv\ ..I\U..
WL 40 22°
Wdoos
[ 1
[ 1

)=
==

SIGNATURE SERIES

F81

DEADBOLT: SIGNATURE SERIES (980)

DEADBOLT: B&0

KNOB:

KNOB:

Similar opaque panel configurations are aliowed.
Panels shown are for illustration and are representative only.

SCHLAGE
KWIKSET

Fiber-Classic/Smooth-Star Door Panel Options
Products approved include ali embossed and recessed panel doors.

SEE HARDWARE
CHART

Bmp'§0e5-£025-X1\sBuimel - D\(§025-£025 XL) squer dwo) duwi 94 dO 8.9 - XXXX Al - IdL\su] 0 1daq sexa] - \LNINVIAYId niL euLBY\sWusiD\'Z



CONG SANVLAINSNGOD oNIgTing "M's L 202 @

SNOISIATY

268l L4 # NOLLVMISIOZM 40 IUIVOI4ILN3D
SHIAFNIONT TYNOISSIH0ud 40 aN¥vog SvX3L Qw_ﬁ% mew WZ@.@%%%NMmoﬁmo A8 J1vd TON

LBLE BRI CLB "ON auoyd B
G6GTT 14 ODMIPA 0$Z Xog .O.&\Sy@v CATGNISSY O Ldvd
“ONI ‘SINVLITNSNOO ONIging ¥00d SSYI9Y38L

CZTILYOL# "I'd SVXAL NAL~VYWHIHL
F'd IPIMIYDS 4 uopuk :Ag peuspndaiy sjuswinosog 1oNA0Md

Rw
LFS

TX-5203
SHEET 4 oF _8

oatE: 5/20/21
scale: N.T.S.

DWG. BY:
DRAWING NO.:

CHK. BY:

BN X
FAEIOI LA A SO, B

8 LOINHOS 3 NOGNAT

\i.......:.2...::u..:...:...
XY
mv * *, \aﬁw o
St W
NM u..;.:&aoi'n &

N
NN :.wﬁ ‘W )
W™

Z EXT. SHEATHING

/ DRYWALL

S0du0ecad00l it oneg0d0beR00000 02000 830000 0Bl o0 0003
09080805000! ag0g0d0s0sadudadongetoledata oS0 00000
CEANLI ST abaloSadolodo 000! 0303000 50!
noedeledado. 030508aS000So @b 00030 000!
800280000020 92020362600! ag0508000!
008203600800 Sefodatololelafbota0000000:

! 85050805050 5050E 0300000068 —

2000 .
00
000 .
00 8
(X
o
00,
000
000
o6
LLX
00
LXX
0
L
908
LXX
o
0
oo
o0
00
X
00
LX]
o

050
o2000502000!
ag0S00a500000:
oge00030200000;
a8600068a8020000000!
0886252525202003000

6908030900030 F 00050502
02020205080, 2303000
9208080900030 % 0252030
05e50305000! 22030
6905084208090 o
232920232528, 232325202050
6202020020 62020000020

27

/3 \ HORIZONTAL CROSS SECTION
\4/ Shownw/2XBuck
Outswing shown {Inswing similar)

OO0

- o A\
2 o 5
W oF o
Ce Ll
Ll
o = 5
/ }
- T e Lo
Lo AR 5060000506000
e ! S G HB 0600 B0t
. R . 392509000900
OIERE0 o
0RE000naE000y! O
3000002000000
SO 808800060808 ——
(5500600060060 [274
500600000000 Ll -
000000000008 N [
000000060000 | o]
8C0000C000Cy:
PGEREGIAOGHD = O =
B0 aR 8B Re0s ounnd m
0O000600A0000 | - o—
coogosoo! oo A
CRRIK &~ 0K C
2600500411000 M~ te)]
800000 [T ] Pl
Ja0000600 [ .
©0008a00 M
06000 (7] n
9000000
L aEaR08 <] £
o000 LT,
CECIL) O [§]
F 000680 [t
SaBaas, [<"4 =]
6606000
0060030 - C o W
5000000
0VC00G0 \ > 0
aaoenas £
500000 | O 5
douone
. — — e — Y— 660,008 A =
. —"—"T—" e — eoa s U 2 mu
e S— a— T T IO S 09005099 ol oS
[N », e " Sy op80GeT W
.R. ]
\ wies
>50
e}
w2
—
> [2°4
i RO o
= o7
oc i
L —
= 1/ 5
[RN]

95858005 Sawir=N
3580000800003 0000
o Senea00000303080305

noaeaowoon.nwwwunno@ 3

/~2 "\ HORIZONTAL CROSS SECTION
w Shownw/2XBuck
Outswing shown (Inswing similar)

EXT. SHEATHING E g

BMP6025-£025-X L\quier dwod g8l /e-14\slenoiddy 1anpoid epuold - VALNINVINYId NiL BULBYL\SIUBIDNZ



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP FG Imp Comp Jambs (TX 5203-5205\C - Drawings\TX-5203-5205.dwg

Noles:

1. Sill tem #32 is aftached to jambs w/ (3) #8 X 2-1/2" pfh screws at each end.
Sill fem #33 is attached fo jambs w/ (2) #8 X 2-1/2" pfh screws at each end.
Silt item #34 is attached to jambs utilizing {2) #10 X 2" pph SMS at each end.

INTERIOR \

@ o

EXTERIOR

SEENOITE 1

7“1\ VERTICAL CROSS SECTION

W Inswing Sill

EXTERIOR

(@)

SEENOTE 1

\\

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

IR
Turvpndars™
\\
EXTERIOR INTERIOR
SEENOTE 1

/"2 "\ VERTICAL CROSS SECTION

W Outswing Sil

INTERIOR

/" 3"\ VERTICAL CROSS SECTION

w Public Access Sill

P.0. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—-11852

w
9
(1 0o
-9 Q“x
£Q 20
To | OF
< I T
=2 |3 =2
] sl O
12 |3 B2
=
8 |4«
oy B PR PO
]
3
S =
oo o
)—
%)
)
pd
O
%]
o
4
o
<
o
o
=
DATE: 5/20/21
ScAlE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5203

SHEET 5 oF 8

© 2021 R.W. BUILDING CONSULTANTS INC.



CON SANVLATINSNOG aNId™iInNg Mm'd L 202 @

ZSBLL—d # NOLVAHISIOZ 40 IALVOLIILNAD SNOISIAZY :
SHIINIONI IVNOISSIH0Nd 40 Q¥vOosS SvX3L ONIHOHONY JAVM4 #® Mong A 3ivd [ON S slzlol © 8_
LELE'6GO'TLE "ON Suoyd : QLS L
SBSET 14 OOMIDA 0£Z Xogd .O.A\N\MV@. *AT8HN3SSY JO Livd W =~ - . :Zu &
‘ONI ‘SINVLINSNOO ONIaNG N = . g 6_
¥00Q SSY19438ld vl 18| Elg B
£ZLYOL# "3'd SYXAL NAL—YWYIHL g m AL B
‘I'd WPLUYDS 4 uopuk :Ag padodeld sjusWINOOQg 11onaodd SIS1ElS w 5
\&\5,\.

.
_-A.- gl

y, 3000

wm 2 ....::..:.:.&/wbs

Sx .“w.sm 40 J. o

R e

(3) #8x2-1/2"
PEH WS

(TYP)

JAMB TO HEAD DETAIL

('dALl) DO
XYW 1

!

—! e {dAl).9 ~—

[
—d
o
e
ed
[o—

| HEAD & JAMBS
(TYP.)

FRAME ANCHORING

FRAME
S

Bmp 60zS-£025-X 1\quler dwo) gL /g-14\sienosddy 1onpoid epuojd - Y\LNINVINYId N BULBY\SIUSIDNZ



TONT SANVLANSNGD GNIgTng "m'a L2202

2g8LL—d # NOLVHISIONN 40 ILVOLILNIO SNOISIAZA -

SHIANIONI WNOISSIA0Nd 40 QuvoE SYXAL SUVLIIA INYMANVH A 41vad [ON Sloil= o n 8_

£616'689°CLY 1'ON suoyd : N Q
SBSEE 14 OOMIDA OSZ Xo@ ‘O'd \M\wg ATEW3SSY 80 Livd S M 1., N 5
"ONI ‘SINVLINSNOD ONIaTINg N . g | 7_

¥00J SSY19M34ld Ol Bl &g &
£ZLPOL# "I'd SVXIL NAL-VAHIHL i m ol xI|Z &
F'd IPIUYDS 4 uopukl :Ag peadpdetd spuswnooqg 110Na0yd 219 W 5 w 5

i

:

s

:

* :‘

4:" 7 35 :
g

5§
igh
A\
@
@
\
\
HINGE DETAIL
Outswing

>@

GWVT 40 . JOOQ AR8AH/LN

I
Blo
dOLWO¥ .SZ1'L 1 (dAl) .SL 62 /./\ / L 2F
T @ jefy | OZF
gWVT 40 3000 Y004 J° 0 =
dOL WO¥4 571 L ('dAl) ST'6T w T =
=
% e rm—— '\ e lef
= ? : g T | @
[a €=
®
e
a
L)
&
(S'1¥) .88 =
WSG m 8
<8
I (BB Wl ) | wl|o
| . . . . » | vlh m
("3
Gl5
g

DETAIL

SEE LATCH /\

& DEADBOLT

Security Sub
Strike Plate

Schlage

\y
LATCH & DEADBOLT DETAIL

LATCH & DEADBOLT DETAIL
Kwikset

LATCH & DEADBOLT STRIKE DETAILS

BMp502$-£025-XL\sBumel - J\(5025-£02s XL) squier dwod dw| 94 4O 8.9 - XXXX A - 1d1\suf Jo 1daq sexs) - \ININVIAYId nil eway1\siusidD\Z



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP FG Imp Comp Jambs (TX 5203-5205\C - Drawings\TX-5203-5205.dwg

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A | 2XFRAMING [SG >= 0.42) WOOD
C |1/4" MAX. SHIM SPACE :
F | #10X 2" PFH WOOD SCREW STEEL
L | #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT] STEEL
1 | COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
9 | SWEEP [USE w/ PUBLIC ACCESS THRESHOLD) VINYL
20 | #8 X 2-1/2" PFH WOOD SCREW STEEL
21 | #12 X 2-1/2" PFH WOOD SCREW STEEL
22 | #8 X 3/4" PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #9 X 1" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 | 4'X 4 HINGE STEEL
32 | INSWING THRESHOLD ALUM/COMP
33 | OUTSWING THRESHOLD ALUM/COMP
34 | PUBLIC ACCESS THRESHOLD ALUM
40 | DOOR PANEL (BOOK] -
41 | DOOR PANEL (HYBRID) -
42 | DOOR PANEL (U1) ;

1.25"

4.56"

212"

@ COMPOSITE JAMB

4.56"

i‘—— ].5“ -]

32 INSWING THRESHOLD

Adjustable Composite Sill

4.56"

/e

33 OUTSWING THRESHOLD

Composite Sill

0.082"

@ PUBLIC ACCESS THRESHOLD

Lf% L.

P ]

in
=
o

Il

T

( : )SWEEP

CERTIFICATE OF REGISTRATION # F—11852

uj
R
ST )
9o 4
ES o o
™6 LBz
Aoy ¥ o
o R £ N &
¥ LD O
Njsg £.5 ¢
S Z8%a Z
*1 O <omo
Wik Eig o
b S359 @
Skw 0
7] ‘_E
Zomo
5 Sn.
m 60.
° Q5% u
4 Zmy O
] 9 .¢ 4
o ——oom
£ Bok <
o O
s X °
2
[
Q e;
E g
=3
[3]
[°d
a

' wn
§ | 2
o Ez
&’Q LY
toy oy 58
2 |4 =4
e I s
Lo 12 kO
& ulh OO
Fu |9
o |2 I
55 |y ®
2 o
S &
& X
>..
m
%)
pd
O
o
o
Lut
<<
a
o
=
bATE: 5/20/21
scale: N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
T™X~5203

SHEET _ 8 oF _ 8

© zo021 R.W. BUILDING CONSULTANTS INC.




